Six-Solution Problem

Questions

Using your data table and the lab sheet for reference, put the letter of the best possible answer on your scan-tron form.

1.  Which chemical was in bulb A?  


a) silver nitrate;  


b) hydrochloric acid;  


c) sodium carbonate;  



d) potassium iodide;  


e) sodium chloride.

2.  Which chemical was in bulb B?  


a) silver nitrate;  


b) hydrochloric acid;  


c) sodium carbonate;  


d) potassium iodide;  


e) sodium chloride.

3.  Which chemical was in bulb C?  


a) silver nitrate;  


b) hydrochloric acid;  


c) sodium carbonate;  


d) potassium iodide;  


e) sodium chloride.

4.  Which chemical was in bulb D?  


a) silver nitrate;  


b) lead nitrate;  


c) sodium carbonate;  


d) potassium iodide;  


e) sodium chloride.

5.  Which chemical was in bulb E?  


a) silver nitrate;  


b) lead nitrate;  


c) sodium carbonate;  


d) potassium iodide;  


e) sodium chloride.

6.  Which chemical was in bulb F?  


a) silver nitrate;  


b) hydrochloric acid;  


c) sodium carbonate;  


d) potassium iodide;  


e) sodium chloride.

7.  A spectator ion is an ion that does not change in a chemical reaction (it is unchanged).  Which one of the following is always a spectator ion in this experiment?  

    
a) H+;  
b) Cl-;  
c) NO3-;  
d) CO32-;  
e) I-
8.  Which of the following is a spectator ion in only some of the reactions in this experiment?  

    
a) CO32-;  
b) K+;  
c) NO3-;  
d) Na+;  
e) Ag

9.  How many reactions did the chloride ion participate in?  

    
a) 1;  

b) 2;  
      c) 3;  

d) 4;  

e) 5

10.  Which gas caused the fizzing?  

     
a) H2;  
b) CO2;  
c) O2;  
d) Cl2;  
e) NO2
11.  Based on the results of this experiment, which chemical would react with KCl?  

     
a) HI;  
b) Pb(NO3)2;  
c) KNO3;  
d) H2CO3;  
e) NaNO3
12.  Which of the following is not a precipitate formed in this experiment?  


a) Ag2CO3;  
b) PbI2;  
c) PbCO3;  
d) AgI;  
e) Na2CO3
13.  Which of the following is an incorrect formula for one of the precipitates?  


a) NaI;  
b) K2CO3;  
c) PbCl;  
d) AgCl;  
e) HNO3
14.  Which is the net ionic equation for the formation of lead carbonate precipitate from ionic solutions?

     a) Pb2+ + C+ + 3O- -----> PbCO3
     b) Pb2+ + C3O2- -----> PbCO3
     c) PbCO3 -----> Pb2+ + CO32-
     d) Pb2+ + CO32- -----> PbCO3
     e) Pb2+ + C + O32- -----> PbCO3
15.  Which is the correct net ionic equation for the reaction between the HCl and the sodium carbonate?

     a) 2H+ + CO32- -----> CO2 + H2O

     b) 2HCl + CO32- -----> H2 + Cl2 + O2 +CO

     c) 2H+ + 2Na+ + CO32- -----> H2 + Na2CO3
     d) 2HCl + Na2CO3 -----> H2 + 2Na+ + C3O2- + Cl-
     e) 2H+ + C + O32- -----> H2 + C3O

